SYLLABUS FOR
GENERAL ENGLISH

I. Comprehension Marks
A Short Passiage on which 5 questions are set - 5
Il. Vocabulary
a) Meanings of Difficult words / Phrases T 10
(10 Questions)
b) Antonyms i 5
(5 Questions)
c) Spelling o 5
(5 Questions).
d) Single wcrds or phrases 2 5
(5 Questions).
lll._ Grammar
a) Prepositio 1s: = 5
(5 Questions) :
b) Articles 8 5
(5 Questions)
c) Common Errors 4 5
(5 Sentences)
d) Adjectives . 5

(5 Questiuns}.
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SYLLABYUS FOR
GENERAL KNOWLEDGE
All Questions are Objective Type

Marks

l. Discoveries, Inventions, Awards and Important Dates and

Events (10 Questions) 10
Il. Health and Hygiene (5 Questions) 5
Il World History (UNO etc.,) (5 Questions) 5
IV." Sports (5 Questions) S
V. Telangana State (5 Questions) 5
VL. Indian History and Culture (5 Questions) 5
VIIl.  Elementa‘y Science & Technology (5 Questions) 5
VIIl.  Elementay Geography (5 Questions) 9
IX. " Books and Authors (5 Questions) 5
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PAPER-I
GENERAL ENGLISH
MODEL QUESTION PAPER

Time: 1 Hour . Max. Marks: 50

Q.1

Q.2

Q.3

Q.4

Q.5

Read the following passage and choose the right answer for the questions
that follow : From (1 to 5)

Questions

Onie 0 1D =

For questions 6 to 15
Choose the correct meaning for the word given at the beginning:
Eg:- Alternate

(a) altarnative (b) Change (c) Altar
(d) Occurring by turns ) ( )

For questions 16 to 20
Choose the word opposite to in the meaning to the one given
Eg:- Q.16 Victory

(a) Proud  (b)defeat (c) Ineffective
(d) Rigid ( )

In questions 21 to 25 only.
One spelling is correct — Choose the correct Spelling from among

those given:

Eg- Q.21
(a)Surgon  (b) Surgeon (c) Sergon
(d) Surgoen 2 ( )
For questions 26 to 30
Choose from among those given the right single word or
Phrase for those given at the begininning
Eg:- Q.26 Fish out of Water _
(a) Catch fish (b) Uncomfortable surrounding
(c) Jumping fish  (d) think deeply G )

Contd.



Q.6

Q.7

Q.8

Q.9

>

For questions 31 to 35 choose the right preposition to
fill in the blanks in the sentences that follows:

Eg:- 31. 1 will not be in Hyderabad
Two days

(a) for (b)since  (c)about  (d) at ( )

For question 36 to 40, choose the appropriate article to fill up the
Blank.

Eg:- 36.ltis unually hot day

(a) the (b) a (c) an (d one ( )

In questions 41 to 45 only one sentence out of the four given is correct.
Choose the correct one.

Eg:- 41 (a) Wait while | come
(b) Wait until | come
(c) Wait | come
(d) Wait when | come
For questions 46 to 50, choose the correct form of adjectives :

Eg:- 46. He is'senior than me by two years.
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PAPER-II
GENERAL KNOWLEDGE

MODEL QUESTION PAPER
(50 Questions)

Time : One Hour Max.Marks: 50

{8 Who discovered X-rays :
(2) Galileo (b) Rontgen (c) J.L. Baird
(d) Ronald Rose ; ( )

2. The first Russian Woman to go into space in 1963
(a) Valentina Treshkova (b) Neil Armstrong
(c) Rakesh Sharma (d) Hilary ( )

3. The Capital of Argentina
(a) Buenos Aires (b) Nassar
(c) Tripoli (d) Nairobi ( )

4. The roof of the world is
(a) Tibet (b) Thailand (c) Burma  (d) Kenya ( )

5. Frontier Gandhi
(@) Khan Abdul Gaffer Khan
(b) B.R. Ambedkar

(c¢) Vinoba Bhave
(d) Bose, J.C. ( )
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PAPER-III -

NUMERICAL ABILITY TEST ;_“_m

Model Question Paper
Time : One Hour Max.Marks : 50

( There will be 50 questions covering the seven topics)
RATIO :
1. A certain sum of money is divided between P znd Q in the ration
3 : 2 and P get RS.120/- more than Q than the fotal money is

(a) Rs.600/- (b) Rs.500/- (c) Rs.360/- (d) Rs.240/-. ( )

FRACTIONS:
2. (2-1) - (3+5) =
3 6 4 6
(a) 1/3 (b) 19/6 (c) 6/19 (d) 2/5 ( )
AVERAGES:

3.  The average marks in English and Mathematics of a class of 10
Students are 45 and 52 respectively. Then the average of the group
in the two subjects together is

(a) 45% (b) 48.5%  fc) 97% (d) 52% ( )

AREAS :
4.  The radius of the base of a cylinder is 2 cm. And its height is 7cm.
Then the area of the curved surface of the cylindzr is
(a) 44 sq.cm. (b) 88 sq.cm. (c) 22 sq.cm.
(d) None of these ( )

INTEREST:
5. Aprinciple of Rs.2,000/- at the compound interest of 5% per year
amounts to the following total at the end of 2 years.

(a) Rs.205/- (b) Rs.2205/- (c) Rs.2100/- (d) Rs.2055/-( )

PROFIT & LOSS :
6. If a shopkeeper purchases 11 pens for Rs.10/- and sells them at the
rate of 10 pens for Rs. 11/, the profit he gets is

(a) Rs.1/- (b)Rs2-  (c)Rs2.10 (d)Rs.1.10 ( )

TIME & DISTANCE : -
7. 3 men or 7 women can do a piece of work in 32 clays. The No. of days
required by 7 men and 5 women to complete the' work is

(a) 2 days (b) 3days (c) 5 days
(d) none of these : ( )

el v e e v e e



